














106.

107.

108.

109.

110.

(ii)

111.

112.

A

If n is the maximum number of solid cubes with an edge of length 0.2 cm that can be put
in a box whose dimensions are 1 cm X 1 cm % 4 em then n =

1 2.5, x 1 20.5. ><4rac:5'b aa:nymoggaa.sa&éf(ﬂ 200.20. ©oBPE §DS oBoTre NORNCR;
n ©0Nd, BD n =

(1) 250 (2) 150 (3) 500 (4) 350

The lengths of the sides of a right angled triangle are in the ratio 3:4. The area of the
triangle 1s 726 square units. Then the length of the hypotenuse (in proper units) is

&5 oows's (@Lbed s QG 3 : 4. & Ggbe Pop 726 3. I, S T 58 T (B
ANrILS’)

(1) 33 (2) 44 (3) 55 (4) 66

The ratio of the radii of two circular cylmders A and B is 2:3 and that of their heights is
5:3. If the volume of the cylinder B is 27 m3, then the volume of the cylinder A in cubic

meters 1s.

Sot> HTS6 JrJe, A, Be:"ga’o‘e::):ge?Z 3, T3 Jdge AR S : 3. Bro B pohsdarao
27 0.2, @od waoAm:ﬁa&bJ"m (30. o.08%)

(1) 22 (2) 30 (3) 40 (4) 20

The number of elements in the set
={n:n mteger, 500 < n < 700 and n is divisible by 11} is

Pod E = {n : n grgoso, 500 < n < 700, 11 3 n Hyser ?,rﬂozéaac‘.:amoé} 59 Soreste RMoxps
(1) 63 (2) 45 (3) 108 (4) 18

If 358 = r (mod 5) and 0 < r < 4, then r = '

358 = r (mod 5) 55800 0 £ 7 < 4 ©0d , e r=

11 @2 - (3) 4~ (4) 3

Algebraic and Geometrical Ability (Marks: 30)

Hesite3s, argodaXs sl g

The statement (p - g) — p is equivalent to

(P = q) - p &S EHITIE BoogHd

(1 p (2) q (3) g > p~ 4)p—q
The contrapositive of the statement p — ¢

P = q &3 EHUT8 SIH0B50

MEp—>q @ Ep->(~q9 B g-op* 4) (~q) = (~p)
[P.T.O.
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113.

114.

116.

117.

1
If the statement “-2- is rational and /3 is irrational” is denoted by p, then which

the following statements represents ~ p?

1 .
“53:&5 ©EGEia0 Sogy o800 /3 @8 sefan Sogs” &R @ESETY p & wrdh, 06
38 ~ p J Rrdied? _ -

| -

(1) = is rational or /3 is irrational. -
2.5 eS0rab Sops 8o V3 .8 soelaw o,
(2) = isirrational or /3 is ratiomﬂ -

©.3 36630 Hopy o V3 o8 estedon oy,
(lAi) 15 wrrational or /3 is irrational.

&3 5003t Doy 8o /3 &8 socka oy

(4) — is rational or /3 is rational’ 3

I\'-J—*lé'*-T\:'v—'l\'.I-*I\'.,Iv—-l\:uth'.lh-'l

&5 sESeak :30::5 do J§ s &558’302’0 bc;a:;.

If the number of elements in the sets A, B are respectively 5, 7, then the number

relations that can be defined from A to B is.

A, B 55008l Sarese Sopgeo 500 5, 7. 0008, A ol B 2 G50 Mo Soworre oy
(1) 27 (2) 212 (3) 2356 (4) 25

1 X
5. Iff: R — R is a function satisfying the condition 2 f(x)-3f (;] =2 for any x# 0, then

(3) =
1 ;

R 5000 R 2 055 005edS 6.8 Shooko £, @ x# 0 &, 2 f(x)-3f [‘;] = x2 &3 dpods SoBy 50
S f(3) =

11 10
D= (2) 3 (3 -3 @15
If a sct A has 8 elements, then the number of subsets of A having atmost 4 elements is
&S DO A S 8 rusteacd, A aIxos), e'i;'::\’).‘.’b&}df nozom 4 BATOSICE &SRNGS 20
(1) 256 (2) 126 (3) 93 (4) 163
It & straight hne is passing through the points (3, 3) and (7, 6), then the length of the
portion of the line intercepted between the coordinate axes is
2 00¥ T (3, 3), (7, 6) Dotishe Kom Neoods, e 56¢ B RETSSEre 3365 D ©oBS potio Ny

(1) 4/5 (2) 47 . (3) 5/4 (4) 7/4
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118.

119.

120.

121.

122

123.

124.

The equation of a straightline whose slope is 1 and X—int-ercept 15 4, 18
oo 1 1 598, X-wo88goto 4 i No HEY O HAosteo

(1) x+y+4=0 (2 x+y-4=0 (3) x-y-4=0 (4 x—y+4=0
The foot of the perpendicular of the point (1, 2) on the line 3x¥ 4y =11s

(1, 2) Socopvods 3x + 4y = 1 56¥ D% AbS vondrto

3] et eld) oD
Ol @ |3 = @ (35 3 @ |35 35

cos 208° sin 238° + sin 152° cos 122° =

| £ 3 3
(1) > (2) N o (3) 7N | 4) 1

4 D
IfO<a,B< -;E, cos (a+f) = 5 and sin (a - ) = T thentanla—
n 1 y 5

O<a, B< i Scos(a+P)= g,m&oimsm(u-ﬂ)— 13 &0owe, tan 20 =

56 33 16 63
(1) 33 (2) 56 : @) 3 (4) 16
If x=acos0+bsin0andy=asin0-bcos 6, then 1% + y> =
x=acosO+bcos0, y=asin0-bcos 0 woud, 1 +y> =
(11 (2) a? (3) b - (4) a®+ b?
tan 10° + tan 50° _
1-tan10° tan50°

V3 +1 :J5'~ 1 I
(1) 202 (2) 5] 3 3 (4) B
A man in a boat rowing away from the cliff 150 meters high, observed that it takes

2 minutes to change the angle of elevation of the top of the cliff from 60° to 45°. then the
speed of the boat in km/hour is -
150 Joeatiy Agife e85 Bpdio Mood SR w8 D6 ek 36§ Bporiio o)

c-G

$ 3RS 2 Doed $500%0 SROE"HERT MDY, © BES Do, Nowts 35 .‘_,L,e.;g-

22 3‘/— 9+3f ©3) 9-43 @) 943

(1) (2)

(P.T.O.
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125.

126.

127.

128.

129.

130.

131.

If the polynomial — a® ¥3 — 2ax2 + b2y + lis divisiblé by x+ 1, thena—-1=
"aax'g—2ax2+b2x+ 1 @3@3&5x+ 13 grhcdeadda—1=
(1) b (2) £ 2b B)£Bb+1) 4 x£Mb-1)

A polynomial in x leaves remainders —-1 and 7 when it is divided by x + 1 and x —
respectively. If that polynomial is divided by 22 — 2x - 3, then the remainder is

x & 8 TuS8D x + 1 5800 ¥ — 3 08 grAl 3% Eiswoes S5 -1, 7. e BITSAR 22 - 2x -
& oAl 5%y Fs0 :

(1) =7 (2 Tx-1 (3) 6 (4) 2x+ 1

If 73 x 74 x 75 x 76 is divided by 14, then the remainder is

73X T4 X 75 % 76 2 143 ernhy 58y $0

(1) 0 (2) 5 (3) 10 (4) 12

The 8th term of the progression 162, 54, 18, .... is

162, 54, 18, ... 3252 8 5 5650

2" 2 2 2
3 @ 5 @ % @ 35
The sum of the first 10 terms of the series 1, 3,5, 7, ....... s
1,3,5,7,...... 8636° e 10 scro Bstso
(1) 75 (2 50 (3 100 (4) 121,

|
The coeﬁicgent of x in the expansion of (3-\‘2 = T’!;) is
1 1
(34'2 = ;—] J36638° x Moerso
25 z) 45 5 2 w =
(1) 4 ( 2 ( 3 (4) - 3
5 g
If2+3x%= D, 4,x" then Y a,=
n=0 n=0
5 3 5
2+395= 2 4, wouid: % a,=

: n=0 . . : :

(1) 32 (2) 243 (3) 1024 (4) 3125
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132.

133.

134.

136.

137.

138.

8. =2 1.0
IfA=( JandB=(0 _1).t_henAB+BA=

0 -f} 1 0
A=|, o]:B=|, _|ec8 AB+BA=

In the above figure if ZABC = ZBDC = 90°, BD = AD, then /BCD =
2 3008’ ZABC = ZBDC = 90°, BD = AD woxd, ZBCD=
(1) 30° (2) 45° (3) 60° (4) 75°

23

0 -2 bl 00 10
Wiz o @ 1o -1 @ {0 o @ o 1
If A, B are square matrices of same order such that B= - A~! BA, then (A+B)2=
A, B ev 23 5057690 Mo Doco S, @ B = — A1 BA exdioganod] ey (A + B)2 =
(1) 0 (2 A+B (3) A2 + B2 (4) A%+ 2AB + B2
Lim - x*'- -& '
x—1 -./; o |
(1) 1 (2) 3 3) 4 (4) ©
Lim V+2'+..+n '
" n—ow o
1) 0 2 l 3 l 4) 1
(1) (2) 5 (3) 3 (4)
.2 dy
If 3x% + 2xy + y% = 6, then =1,
: . dy
3x2 + 2xy + y2 = 6 ©0d, [Z] -12) =
(1) -1 @ 1 @ -2 4) 2
The derivative of tan™! (x2 + 1) with respect to x at x = 2 is
x=238 x GJ% tan~! (22 + 1) Aos), eSsozo
2 3 1 1
(1) 13 (2) %6 (3) 13 (4) %6
B
A/[\
D C

[P.T.O.
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139. If two circles of radii 5 cm and 12 em touch each other externally, then the distance
between their centres (in centimetres) is

5 o020, 12 »oln. TN o Dot ST erTgenT ) yBomoSod, el Togre Bogs Girdio (Roed
WS’

(1) 13 ) 17 (3) 7 : (4) 12

140. The area (in square units) of the polygon whose vertices taken in order are (0, 0), (6,0),
(6, 6), (4, 4) and (0, 6) is
(0,0), (6,0, (6,6), (4, 4), (0, 6) &om@ma,gammegm&mwé & BrULhe YT (B66Y

rJe.,é‘) |
(1) 24 (2) 26 3) 30 : (4) 36
(iii) Statistical Ability ' (Marks: 10)
.5‘0953’ ﬁﬁ)g " e

141. The mode of the frequency distribution given below is
S0 Y Fsidy VTS PTOVES

r

| =} 1V 2 8 4) 86wl
hta 9| 16| 25| 22| 15] 7| 3

1) 4.5 2) 4 @) 5 4) 5.5

142. The geometric mean of the observations 2, 4, 16, 32 is
$58%0se0 2, 4, 16, 32 © KoE33045g00
(1) 4 (2) 6 (3) 8 (4) 10

143. The median of the observations 7, 8, 7, 9, 7, 14, 15, 6, 8, 14,9, 17,15, 16 is
$830s5e0 7,8,7,9,7,14,15,6,8, 14,9, 17,15, 16 W@o

(1) 7 (2) 8 (3) 8.5 (4) 9.5

144. If the mean and mode of a data are 45 and 51 respectively then the median of the data is
&3 Gopodo Ao, e.»og;bcs;mo S000X EFTLYESE> HEIT 45, 51 eond, eSyi & Sovo
mﬁéﬁﬁc

(1) 46 (2) 47 (é) 48 (4) 49
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145.

146.

147.

148.

149.

150.

The quartile deviation of the observations 80, 48, 60, 92, 50, 35, 70 is
508Ny 80, 48, 60, 92, 50, 35, 70 © L&TroBS Do

(1) 10 (2) 12 _ (3) 14 (4) 16

If o is the standard deviation of the observations PR x, then the standard
deviation of 5x, + 7, 5x, + 7, ..., S5x, +7is '

308ose0 %y, X, .., p © SIDeRe 0 ©owd by + T, bxy +7, ..., bx, + T o &0 Dseso

(1) 56+ 7 @ 25062 +7 (3) 50 (4) 50+ /7

The variance of the numbers 87, 88, 89, ..., 98 is
~ogpgeo 87, 88, 89, ..., 98 © 9 )&

143 843 143 843
Oy o @y g )

If two unbiased six-faced dice are thrown simultaneously then the pro'bability that the
sum is 8 with at least one die showing a prime number is
Coco QNS estodogre IUseis Diceon E8% Te3p 8o 8 iyt wothos® shiso .53 o o
Gy BoarB

1 Laad 1 1
(1) 9 (2) 3 (3) 7 (4). 6

1

. 3
If A and B are events of a random experiment with P (A) = 3 P(B)= 3 and

P(AmB)=i—thenP(In§)=_

1 1 -
o8 QeI Eaied™ woeises A, Bes P (A) = g PB=2.PANnB)= 7 Gstazod)
oL P(ANB)=
o L g 19 LS
M 33 2 53 ) 53 ® 33

A group has 12 men and 4 women. If three were selected at random from the group then
the probability that they are all men is

12 3000 PEoives, 4 8 oo No &8 SErTEn0d. S S8 oo QUEy IO B8 Joio
06, CoEST Doy oy

i i 93 i
() 5 @ @ 5 4) 25 i
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